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java.lang.management.ManagementFactory. import
com.sun.management.OperatingSystemMXBean. public class
OSTest { public static void main(String[] args) {
OperatingSystemMXBean osmb = (OperatingSystemMXBean)
ManagementFactory.getOperatingSystemMXBean().
System.out.printn(*'O0 000 O0dodo”
osmb.getTotalPhysicalMemorySize() / 1024/1024 "MB").
System.out.printin*fC 000000 ooO”
osmb.getFreePhysicalMemorySize() / 1024/1024 "MB").} }
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00000000 * public class Diskfree { public static void
main(String[] args) { File[] roots = File.listRoots().//UJ 0O I 0O I I
(1 OO for (File file : roots) { System.out.printIn(file.getPath() "0 O [
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